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OZs AII0I2 =2 AXIZ2A
30,000,000& 30,000
OsZdH H=0I2 Sti==Z HHISAt
75,000,000& 75,000
O22H MEDIES =2 28 2 Hi=2 AX|
2 Ak 30,000,000& 30,000
OSEH 2-2 242 B42A
40,000,000& 40,000
O=EH o202 s MEESA}
40,000,000& 40,000
O=EH SAAMAXA J2HZH| Mgz &
2 Ak 25,000,000& 25,000
O==2H fH0IS HES 28 & - TEZA
60,000,000& 60,000
O=2=3H 2012 = s34l SAL
30,000,000 30,000
OS2 WIS S2EH BA
25,000,000& 25,000
OXIAIH EFXIOIE Hi=2 HU|Z2AF
30,000,000& 30,000




A AN
Hu: =} AS OF
SEHE=

S B - SRS - HSAY - BYS of et o
OdlaiH =H0te =2 FBISA
30,000,000 30,000
ORAE ANOIE SZEH © 42 &7
SAt 30,000,000 30,000
Ozl A0S =2 ZHISA
30,000,000 30,000
O&lIEH 2A12] =2 ZXISAt
35,000,000 35,000
OdEd =0t s2 ZESA
20,000,000& 20,000
OZEH =E0IE =2 EXISA
20,000,000 20,000
Odgd HENES s2 HESA
20,000,000& 20,000
OdEdH =S0ts s2 ZESA
10,000,000 10,000
OUH &DI0HE =2 & =2 ZHISA
20,000,000 20,000
ol g0 s2 ZESA
30,000,000 30,000
ot Ssits == == ZHISA
35,000,000 35,000
Ot e s2 ZESA
30,000,000 30,000
OZoE 3TOIE w4 842 DABA
25,000,000& 25,000
O=%s olZ0ts S22 EXISAt
25,000,000 25,000
OZoE DUNIE BAZ HIIBA
25,000,000 25,000
Otiels ZUM=X &2 S22 HEAI
40,000,000& 40,000
Otiels SJ10t2 Sti+==2 ZHIAIE
50,000,000 50,000
OsZ 2T EAM 70,000,000 70,000
OsdAl =2 HdISAt
80,000,000& 80,000
Os2ZMHd BAt 80,000,000& 80,000
OEx=2 EXISA 70,000,000 70,000
03 Al& = HHI 2,000 2,000
OAIZ =] 2,000,000 2,000
SIIBAIE FX2tel 514,000 514,000
201 L2 21,000 21,000
01 AtR2telbl 8,000 8,000
OsABNs% +H2A 242
4,000,000& 4,000
O==olf, ol tHE HHISXE
4,000,000 4,000




SA AL
B =)} AS O4F
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 13,000 13,000 0
Og=Jl 20U 1,800,000& 1,800
Og=J| =&l 1,200,000& 1,200
OFgE HIIe=s 10,000,000& 10,000
401 AIEHIZ SR 0HYI 493,000 493,000
01 Al&HI 490,000 490,000
Oozd - =D KAl 20,000
—2t3 2D |FA2el|
10,000,000 10,000
—28 H3S Xcldl 10,000,000 10,000
OsZAE FXl2el 160,000
—SZAE 2ME 160,000,000 160,000
OF YL - S22 FAl2c 160,000
—F e S22 AUE>
160,000,000 160,000
OXM==Xl - &M FX2el 180,000
—M=Xl, SN KL=
150,000,000 150,000
03 Al 2 CHYI 3,000 3,000 0
OAI4 2THYI 3,000,000& 3,000
28 Xlote FEIAL L AR 22| ER 100,000 200,000 100,000
403 MR EHHSAHE01H 100,000 200,000 100,000
02 ST 2ASOUSHA2H 2 E At 100,000 200,000 100,000
OUg2d Kot HEXAL & AM=2ES
B 100,000,000& 100,000
JISUHl SIHE A 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
OJtsUHl & Dl SIHEAE
200,000,000& 200,000
AlzZ&te] M=a=X| etdat 75,000 75,600 2600
= 30,000
Al 45,000
401 AlZHIZ SO 75,000 75,600 A600
== 30,000
Al 45,000
01 Al&HI 75,000 75,000 0
OZESM=X LT
25,000,000 25,000
= 10,000
Al 15,000
OZY MK HYUoIMzCH
25,000,000 25,000
=S 10,000




SA AL
33 It 45 oS
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 15,000
OUMAX ZUQMEH
25,000,000 25,000
[ 10,000
Al 15,000
SHMUADIBAIE FHIAIY 330,000 515,000 A185,000
403 AXIEHMSAH=0l 330,000 515,000 A185,000
02 SIS0t = A P E A I 330,000 515,000 185,000
OsHALDEAIE HHI A
330,000,000 330,000
SSX7 B A 1,000,000 150,000 850,000
= 1,000,000
401 Al HIZ S 0HHI 980,000 150,000 830,000
= 980,000
01 Al 977,000 150,000 827,000
OB2NT 4 & A
977,000,000 977,000
= 977,000
03 Al< S HHI 3,000 0 3,000
O&E3X 7 =0 At 3,000,000& 3,000
= 3,000
403 AXIEHHSAH=201H 20,000 0 20,000
= 20,000
02 S712S0 e H=H 2 E AL 20,000 0 20,000
O&E=A+ Bi==IH& A 20,000,000 20,000
= 20,000
2AXF XNES SN (HEAL) 2,900,000 250,000 2,650,000
401 Al HIZ 2018 2,900,000 250,000 2,650,000
01 Al&H| 2,874,000 249,000 2,625,000
OgZ X7 XNEs ELHLAY
2,874,000,000& 2,874,000
02 Zeltl 20,000 0 20,000
OZZX 7 XNEs 2LHEA
20,000,000& 20,000
03 Al 20HHI 6,000 1,000 5,000
OgLX7 XEs BELHLAY
6,000,000& 6,000
AR A2 BiSIHEAIS (R EA) 586,505 62,500 524,005
[ 225,000
Al 361,505
401 Al HIZ S OHbI 586,505 62,500 524,005
[ 225,000
Al 361,505
01 Al&HI 582,750 62,500 520,250




SA AL
B =)} AS O4F
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAKI T A2 H==IH& AL
582,750,000 582,750
= 225,000
Al 357,750
03 AIESTHYI 3,755 0 3,755
OZAKKIZ &2 Bi==IHE AL
3,755,000& 3,755
SOl BH==IH &AL 200,000 0 200,000
= 200,000
401 AlZHIZ SO 200,000 0 200,000
= 200,000
01 Al&H| 199,000 0 199,000
OS0IXI7 Bi==IH& ALY
199,000,000 199,000
= 199,000
03 Al 2 CHHI 1,000 0 1,000
OS0IXI7 Bi==H& A 1,000,000& 1,000
= 1,000
ST HFHEZXE A (HEAY) 62,500 0 62,500
= 50,000
== 3,750
Al 8,750
401 AIEHIZ SR 0HYI 62,500 0 62,500
= 50,000
= 3,750
Al 8,750
01 AlZ2H| 62,500 0 62,500
OSgX 7 W& EXNE A
62,500,000 62,500
[ 50,000
= 3,750
Al 8,750
ASH =2IAlE HESAIG (HEALY) 62,500 0 62,500
[ 50,000
Al 12,500
401 Al HIZL S 0HYI 62,500 0 62,500
= 50,000
Al 12,500
01 Al&H| 62,500 0 62,500
OUSH w=2lAlE HES=AY
62,500,000& 62,500
= 50,000
Al 12,500
otd HHl 3,403,845 4,782,179 1,378,334
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2H: HED
B st H|
s ot &el (e
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 515,000
=S 100,000
Al 2,788,845
otd&tel 2,853,845 3,230,179 A376,334
= 315,000
= 100,000
Al 2,438,845
ot = Al 2 407,600 737,179 N329,579
201 er2 3| 27,600 16,379 11,221
01 Al 22IH| 6,000 9,000 23,000
Ostd AH=E Syaar
2,500,000& 22 5,000
OIS &+ M
100,000& *109H 2 1,000
2 s5=34l 21,600 7,379 14,221
OBtd Sz a2 XIIe3 21,600
—Hh4e 2 BT 70,0002+ 122 8,400
~ XSS HSAIAE
1,100,000& «12& 13,200
401 AIEHIZL S0 380,000 710,000 A.330,000
01 Al&H| 377,264 707,120 N\329,85%6
OstE R X122l At 377,264,000 377,264
03 AIZ2THYI 2,736 2,880 A4
OJd = RIZCIALYE AIZ R0
380,000,000 0.72% 2,736
otd JIgH FHl 190,000 200,000 10,000
401 A2 HIZL R 0HbI 190,000 200,000 10,000
01 Al&HI 188,632 198,560 29,928
Ovotd JIEH EHIA 188,632,000 188,632
03 Al 20HHI 1,368 1,440 AT2
OStE JIEM FHIAME Al =04t
190,000, 0002 *0.72% 1,368
EHEEH 240,000 250,000 10,000
401 AIEHIX R0 240,000 250,000 10,000
01 A28l 238,272 248,200 29,928
Odtd EIRE =4 MY 238,272,000 238,272
03 A& S CHYI 1,728 1,800 AT2
Ootd EIAE =AY AIE=20iH|
240,000,000 *0.72% 1,728
Agotd FXl2c 200,000 0 200,000
= 100,000
Al 100,000
401 A& HIX R0 200,000 0 200,000
= 100,000
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B9l otE el (e ER)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 100,000
01 AlZ2H| 200,000 0 200,000
OXlgaotd FXl2elAte
200,000,000 200,000
== 100,000
Al 100,000
SNl A0HE ADE HF2CIAAE AL 630,000 0 630,000
= 315,000
Al 315,000
401 AIZHIZ S0 630,000 0 630,000
= 315,000
Al 315,000
01 AlZH| 630,000 0 630,000
OZYAl A5HE ADIE HE2IAAY 2
SAME 70,000,000 *9IH 2 630,000
= 315,000
Al 315,000
ML AGHE FHIAIG (HEAIY) 1,086,245 1,049,000 37,245
401 AlEHIZL SO 1,086,245 1,049,000 37,245
01 Al&H| 1,084,072 1,045,224 38,848
OMAAGHHE FHHIAIG (M &)
1,084,072,000& 1,084,072
03 AIZ S THYI 2,173 3,776 1,603
OBHAGHE FHHIAIY Al
1,086,245,000 0. 2% 2,173
M2AGHE ZHIAIS (HEALY) 100,000 994,000 834,000
401 A2 HIRL 201 100,000 994,000 834,000
01 Al&HI 99,100 986,844 N\B87, 744
OXMZ2A0tE HHIAIS (&S
99, 100, 0002 9, 100
03 Al& =Tt 900 7,156 16,256
ORZASIA HHIAR A=Y
900,000 900
ot &bl 550,000 1,552,000 A1,002,000
= 200,000
Al 350,000
2IISHE R A E AL (402 ) 200,000 200,000 0
= 200,000
401 AIEHIX R0 200,000 200,000 0
= 200,000
01 Al&H| 200,000 200,000 0
O=Jlotd FAE+=At
200,000,000 200,000
= 200,000
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